a(6 @) (rad)

=
S
o

107 =

(cm)

~1071

X

ooa

1072

-1 0 1 2 3
TP n (PCA to beamline)

a(d cot(6))
S

=
S
w

10™

................................................

-1 0 1 2 3
TP n (PCA to beamline)

10™

TP n (PCA to beamline)

Ratio

0.5

1051""

E : L
T
Lo P R PR R PR
Lo P R PR R PR
L. | |
-2 -1 0 1 2 3

TP n (PCA to beamline)

€
(3]

=107
o]
1072

1073

Sy
DOM™ asq eE ptlto20 etalp toZg
—— DOQM_pixetfCPEGeneric_step2__ptlto20 etalp6to2p0
L &
10‘51_.'.'..'..'.'..'..'.'..'..'.:.'..'..'.'..'..'.'..'..'.:.'..'.: o
-2 -1 0 1 2 3

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


